wF 3Ly & R = 15
i pCHTAS 4 < AEBEISRHE B AT IR E
e TR ks W A om0 4 [P BRI TR S
N AME1~3TH “Rink —% E%%?{g l:l:ifg I:I:fg J:I:iﬂg J:Ifi’g f -
E#ABE1~5TH e — | BEBR| LkME LhWH YR LM = =
B b Ik
1 R g — | BE#E | LkYE LY v b | —
2 _EERLM o ik 40 | L1 MR bevE HvE b | —
AR i
1 R X el 1t 188 | | | —
2 kRREM ORI
(1) BESHHEISRRE 40 | L1 28 sef 7T | —
(2) BRSO M 40 | L1 23 2 TR | —
S ErE1~3TH |2 — | B | M LY v bevE =
XEEPYH1~3THEK — | BEMR | PRME PR HCYE fhME =
U| T, Tl ~7 T A[iiE e
1 ARk — | M| ER¥E pedE pbdE peMy | —
2 _RRCLASh oD Mg 40 1.1| te¥E e bt fhie — —
[RER Lo kicdr:d 40 | L1|F 28F 38 3o 30 - —
wHE1~3TH sk — | B&MR | PbME HRIE HLTE O HkME - -
7zl EIE1 - 2TH Eoed — | BMR | PRYE O LEWE O LRYE LY - .
L KBE1TH et — | EeA | LY B bR bhUE = =
RRE2TH AL IR — | BRRR | LLYE PRI YR L = =
i A LA Xtk 40 | 1.1 | - 34 34 - -
7| AR Rk 40 11| ¥ be#E EvE v — —
i REE1~5TH ik, — | BEHR | PhME LhHE bkME LY - -
S R 1 TH gk — | BEAR | PhMH LkWH beME LY = —
ML 2TH I C X i S - = cti - = i - (= i - o
i LR ek 40 | L1|F 36+ 48 34 34 | —
W WOARELITH AT R — | BEAR | Fk¥E LhHE LEYE LRYE - -
LA o Hldsk 40 | 1.1 ki tb#E pnE i | —




A0 3MELY 1% 2R % 28
LIRS w -t d ) BINTEE

st [ 22 4 E o AT AR e 5 (SRS

vl

H i -

g TR kTR W A W W R L TEm] m | [k R | 40 | ma
% = = = a & I m

X kiLE1~6TH DK IAESET — | BRAR | HoHE RRME vl v —~ —

T b A K 40 1.1 —[# 35/ 8. 1 8.1 — —




